
Page 1 of 3 

RM470057 Rev 2 

LOCKING LADDER RACK ASSEMBLY INSTRUCTIONS y 
 

16 

16 

http://www.masterack.com/


Page 2 of 3 

RM470057 Rev 2 

LOCKING LADDER RACK ASSEMBLY INSTRUCTIONS 
STEP 3 

Place (2) TUBE INSERTS (Item 20) into the ends of the OUTER TUBE (Item 1). See Figure 3A. 
Attach the OUTER TUBE (Item 1) to the front and rear CROSSBOWS using (4) 5/16" X 2" SCREW CAPS (Item 12), (8) 
5/16" NEOPRENE WASHERS (Item 17) directly under the screw heads and also between OUTER TUBES and CROSSBOWS 
5/16" NUTS (Item 13). The curved end on OUTER TUBE should be facing upward. See Figure 3A. 

17 

17 

STEP 4 
Insert the other BEARING (Item 21) into the AXLE 
HOUSING (Item 5). See Figure 3B. 
Next, attach the AXLE HOUSING to the OUTER TUBE using 
(2) 5/16" X 2" SCREW CAPS (Item 12), (4) 5/16" NEOPRENE
WASHERS (Item 17) directly under the screw heads also 
between AXLE HOUSING and OUTER TUBE, (2) 5/
16" FLAT WASHERS (Item 18), and (2) 5/16" NUTS (Item 13).
Tighten securely. All bolt heads face upward.
See Figure 4.

STEP 5 
Orient the HANDLE LOCK (Item 6) as shown in Figure 5, 
and attach it to the OUTER TUBE using (2) 5/16" X 2" 
SCREW CAPS (Item 12), (4) 5/16" NEOPRENE WASHERS 
(Item 17) directly under the screw heads also between OUTER 
TUBE and HANDLE LOCK, (2) 5/16" FLAT 
WASHERS (Item 18), and (2) 5/16" NUTS (Item 13). 
Once this is completed, connect the AXLE HOUSING 
(Item 5) to the the HANDLE LOCK with (1) 3/8" x 1" 
CARRIAGE BOLT (Item 9), (1) 3/8" FLAT WASHER (Item 19), 
and (1) 3/8" NUT (Item 14). Tighten securely. 
See Figure 5. 

17 

17 

STEP 6 
Slip the AXLE TUBE (Item 8) through the BEARINGS in the AXLE HOUSING and the INBOARD RAIL. Secure with (2)  
3/16" x 2" PINS (Item16). See Figure 6A and Detail C. 
Place the RUNG HOOK (Item 3) on the AXLE TUBE and attach with (1) 3/8" x 2-1/4" CARRIAGE BOLT (Item 10), (1) 
3/8" FLAT WASHER (Item 19), and (1) 3/8" NUT (Item 14). Tighten. See Figure 6B. 

17 

http://www.masterack.com/


Page 3 of 3 

RM470057 Rev 2 

LOCKING LADDER RACK ASSEMBLY INSTRUCTIONS 

http://www.masterack.com/


3 Year / 36,000 Mile Limited Warranty 

(3) years or 36,000 miles (60,000 KM)


	Warranty Page.pdf
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


